N = 0l & At & M A

20178 = S0l & LB H S A
2N F4t.
HE: BN WY S (SPHSLN/5Y - 55)
el BMASTE CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= AHD}. 6,521,344 8,438,501 N1,917,157
= 738,446
Jl 886, 189
= 859,702
Al 4,037,007
EAMN A U (sHL A sYH - =) 6,433,828 8,357,103 N1,928,275
= 738,446
J| 886, 189
& 859,702
Al 3,949,491
EMNALAERA 1,384,780 1,368,240 16,540
J| 353,200
o 201,417
Al 830, 163
ZNOIE2Y 51,580 67,090 A 15,510
201 et 9| 10,560 18,720 A8, 160
01 AP 2t 2] d| 10,560 17,160 A6,600
O1.48t==2H| 7,200
- ALY Qb4 ZH| 2,700,000& 2,700
SEAMAE Y PR HENE R
4 5002 x5008 2,250
-FTAUIS S4&tsIF 2E018 nEeilts |2
4 5002 x5008 2,250
O5. 83| 3,360
SEAHME UDRET AZAZSN 24
7,000 x4Hx10L + 128 3,360
202 o4 | 4,320 4,320 0
01 2Ll 4,320 4,320 0
OFMEHY R |
60,000& »4H 3 *63| 4,320
206 M 2 dl 10,000 8,000 2,000
01 =4l 10,000 8,000 2,000
O=st - =AM ol Il o ol & 10,000
%= 50,000& *50S *x2& 5,000
- XK 100,000 x50 5,000
301 LBt A= 26,700 36,050 AN9,350
06 212to1 =22 (4 HI 17,500 26,250 A 8,750
OFTATHS SasJt SEELE eIt ol
2,500,000¥ *10¥ *70/100 17,500
09 SHAIAHI E A2 9,200 9,800 A 600
OFAsIE Dl =S Yl 60,0008 *20H 1,200
OstR0olol & sAL FHAX (OH|
60,000& x50H 3,000




N L1
HE: BN WY S (SPHSLN/5Y - 55)
el BMASTE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZ 83 £3F =30 & Mgl B4
800,000& 45 3,200
OFZES SMHBA B4 ol
60,0003 x15F +23| 1,800
Sagd T 296,300 287,900 8,400
301 gt d= 50,000 50,000 0
1MIIEELES 50,000 50,000 0
Osting= £ot Zada N
100,000 5005 50,000
402 RI2FXt20| ™ 246,300 237,900 8,400
01 212t 2 A B (RERTH ) 246,300 237,900 8,400
O=AtAIZEEZ S XA
4,000, 000& 207 260/ 100 48,000
Ox BEEE HHMESEX X
50,000& *5005 60/ 100 15,000
O=4tsIt &30 XA
300,000 *300CH*60/100 54,000
OstRFHXA AL 10,000& *4,0005 *60/ 100 24,000
OFAt2el8 CCTVE Xl X &
2,500, 000& *25JH 2~ x60/100 37,500
Ost2 Az X=s=201J1 X
13,000, 0002 *5CH *60/ 100 39,000
Ogds=sl €30 X
1,000, 0002 *20CH 60/ 100 12,000
OAFHMAHE &5 AWK
200,000& *120=2 70/ 100 16,800
S OFXI 28 AtOFH AFH <2 &> 19,000 20,000 A 1,000
< 5,700
Al 13,300
307 glz2+ol & 19,000 20,000 A 1,000
< 5,700
Al 13,300
02 It M AMHEE 19,000 20,000 A1,000
OSO0HXI A A OFE AHY 10,000& * 1,900 19,000
< 5,700
Al 13,300
St SOHA E<E 2> 178,100 408,000 A 229,900
J| 81,700
< 28,920
Al 67,480
307 21201 A 178,100 408,000 A 229,900
J| 81,700
< 28,920
Al 67,480
02 HAFAAHEX 178,100 408,000 A 229,900
Oogets0t 117,600




2N
X ZH -
L= B

el

A ZE a9 (3) - HRAY - BYS Ol &t o San HmEET

-H 4l 102,900, 000& 102,900
J| 44,100
< 17,640
Al 41,160
JIsHEEg= 14,700,000& 14,700
J| 7,350
= 2,205
Al 5,145
OAtzl s =0t 16,500
-H 30,0003 50«10 15,000
J| 7,500
< 2,250
Al 5,250
JIsNEE=E 3,000 x50H 102! 1,500
| 750
< 225
Al 525
OM& =0t 44,000
M &bl 40,000 =100 =10 40,000
J| 20,000
< 6,000
Al 14,000
JIshHEEgE 4,000 «100H =10 4,000
Jl 2,000
< 600
Al 1,400

=X E A <E 2> 48,000 96,020 A48,020
< 9,600
Al 38,400

402 RI2EX 20| ™ 48,000 96,020 A 48,020
< 9,600
Al 38,400

02 QI 2 A EZ(OI X TH ) 48,000 96,020 A48,020
O=gd=daAY 600,000 *1605 *50/ 100 48,000
< 9,600
Al 38,400

SIS A H<E Z> 98,600 72,000 26,600
< 27,672
Al 70,928

307 glz2tol & 83,200 56,600 26,600
< 23,052
Al 60,148

02 It M AMHEE 83,200 56,600 26,600
ORdsg=4HM1 1,000& x6,0005 6,000
< 1,800
Al 4,200
Oste & =el 60,000 5305 31,800
< 7,632




2N
X ZH -
L= B

el

HH - B (3H) - KA - BYS il Bl RE2
Al 24,168
Oste ExSEH| 6,000& *5,5005 33,000
< 9,900
Al 23,100
Ot & & At 10,000& 6005 6,000
< 1,800
Al 4,200
Ost X2l 2,0002 *4,0005*80/100 6,400
< 1,920
Al 4,480
402 RIZ2FXt20l ™ 15,400 15,400 0
< 4,620
Al 10,780
02 RIZt X2 AL EZ (OIS ) 15,400 15,400 0
OB +TE 0/4AY
550,000 *405 70/ 100 15,400
= 4,620
Al 10,780
SAYAYS<E E> 91,920 121,520 £29,600
< 27,486
Al 64,434
402 RIZEX201 ™ 91,920 121,520 A 29,600
< 27,486
Al 64,434
02 U2 THEALEZ(0IETHR) 91,920 121,520 A 29,600
O2gs=2X& 8,000% *8,400kg*60/100 40,320
< 12,096
Al 28,224
OMLYINX& 2,000, 000& =18CH 60/ 100 21,600
< 6,480
Al 15,120
Oog=sttEs N2MEXNA
6,000,000& *8CH *60/100 28,800
< 8,640
Al 20,160
OEsdg 2BdXEA 500, 000& 3= *80/100 1,200
< 270
Al 930
HBY Y e<2 E> 25,980 19,440 6.540
= 7,794
Al 18,186
402 RI2HXt20| ™ 25,980 19,440 6,540
< 7,794
Al 18,186
02 212t 2 AL EZ (01X THS) 25,980 19,440 6,540
OAHettxt XI& 80& *410,0007H =60/ 100 19,680
< 5,904
Al 13,776




N LD
HE: S ZHY AL/ 5 - 5F)
el SMASKR (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
SEEREEEE I INE
7,000,000 1 2 +60/100 4,200
= 1,260
Al 2,940
OFAHA Z2& XA 5,000& «700JH =60/ 100 2,100
< 630
Al 1,470
SMAE SHaE x> 120,000 0 120,000
J| 120,000
402 RIZEX20l ™ 120,000 0 120,000
J| 120,000
02 RIZEXt 2 AL EZ (OIS ) 120,000 0 120,000
OFAAS B CHaHAHYS
1,200,000, 000& *10/100 120,000
J| 120,000
ZoBH2BUC X A< E> 75,000 90,600 A 15,600
= 22,500
Al 52,500
402 RIZER201 A 75,000 90,600 A 15,600
= 22,500
Al 52,500
02 U2 T EALEZ(0IETHR) 75,000 90,600 A 15,600
OF¢tsIt SFHLEHIXE
30,000, 000& *5CH*50/100 75,000
= 22,500
Al 52,500
NEH 2EE KRR E> 35,000 35,000 0
< 10,500
Al 24,500
301 LBtE A= 35,000 35,000 0
= 10,500
Al 24,500
11IIEEAS 35,000 35,000 0
OJt=Toll 282 XA
4,000,000& =357 2~ *25/100 35,000
< 10,500
Al 24,500
o A AR RI<E X 24,850 68,850 A 44,000
< 10,650
Al 14,200
307 glz2tol & 24,850 52,050 A27,200
< 10,650
Al 14,200
02 It M AMHEE 24,850 52,050 A 27,200
OL ALK (HA 1,500, 000& 75 *70/100 7,350
< 3,150
Al 4,200




N LD
HE: BN WY S (SPHSLN/5Y - 55)
el BMASTE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZMMATE(SH =)
3,000,000& *75 *70/100 14,700
= 6,300
Al 8,400
OLMAXIA(ZH) 1,000,000& *45 *70/100 2,800
< 1,200
Al 1,600
StLEs A3 XA 7,000 7,000 0
307 21201 A 7,000 7,000 0
02 QB AANFEE 7,000 7,000 0
Ostea s A& 7,000,000 7,000
S& =0t DI R THAI A< 2> 125,450 48,060 77,390
< 37,485
Al 87,965
402 RI2FXt20| ™ 125,450 48,060 77,390
< 37,485
Al 87,965
02 212t 2 AL EZ (01X TH ) 125,450 48,060 77,390
OEE HE20)| N
2,000,000 »17CH*60/100 20,400
< 6,120
Al 14,280
@) PNRELEAES LN 15,000& *2,4005 *60/100 21,600
< 6,480
Al 15,120

o

OXNEHASLAX A (S AHE 2B

1,250& *2,0007H =80/ 100 2,000
< 450
Al 1,550
OR=dadMIEEIXE
10,000, 000& *5J4 A 60/ 100 30,000
< 9,000
Al 21,000
Oet2AZNS=E0IIXE
13,000, 000& *3J4 £ +60/ 100 23,400
< 7,020
Al 16,380

OL=HAAZS0IIIXE

900, 000& *5JH 2~ 60/ 100 2,700
< 810
Al 1,890
Oet=0IUE==H XA
15,000& * 1,600 =60/ 100 14,400
= 4,320
Al 10,080

OSSOt ZAOHAIX A

7,000& 2,200 60/ 100 9,240
= 2,772
Al 6,468
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2N F4t.
HE: BN WY S (SPHSLN/5Y - 55)
Sl MY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
OXMNE HIGH H&&X AES
60,0008 20 x 13| 1,200
402 SI2FXHE0| & 942,950 1,005,950 A 63,000
01 SIZEXIEANYEX (MMM A) 942,950 1,005,950 A 63,000
OZEXY ZARMATY X8
10,000,000 =10CH 60/ 100 60,000
OUZEXTAIE BIHEZ2 NHAHA
100,000 *2,000X *70/100 140,000
OMNE sII ZAIS M ALEH] XI&
4,000,000 *9CH *60/100 21,600
OSNBZNEE SBX R
3,000 *500 X *300= *60/100 270,000
Ol &H X 1,500,000 *30CH 60/ 100 27,000
OFEZE AFUXMA XA 86,500
-5 3,000 23,500 *50/100 35,250
-0 MEMM(AEE)
2,500& *x24,000kg*50/ 100 30,000
-0MEMA ()
1,500® x1,500kg*10S *50/ 100 11,250
-AMEIE (HBRYHE S)
5,000,000 47 x50/100 10,000
OAZ MYl MAH] X &
15,000& *16,000E *60/ 100 144,000
OdAMsI st NsAE K&
6,000 *50,000% 40/ 100 120,000
OLdE==IF HHl dFH2H XE
5,000 *350kg*18& +70/100 22,050
OAMLL2IX &8 MSAJAAY
1,400,000 *20CH 60/ 100 16,800
OAFMHA EFRAE XX
5,000,000 x 101 A *70/100 35,000
TS HF AKX J A <E X> 123,560 79,400 44,160
= 37,068
Al 86,492
402 SI2FXHE0| M 123,560 79,400 44,160
= 37,068
Al 86,492
02 CIZEXIEAIS EX (0| XM THL) 123,560 79,400 44 160
OrEA s HHMH K&
120,000 90 Ml E 70/ 100 7,560
= 2,268
Al 5,292
OMUPYIAIELH & 2FHHAE X
20,000,000 *4CH *50/100 40,000
= 12,000
Al 28,000
OFMEL=X2I XA
25,000,000 61 A *40/100 60,000

_9_




2N

=
Eal .

HE: 24 B LA (sTHY
=

2 A ot/ sd - sE)
Sel EMAYTH (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
< 18,000
Al 42,000
ONBZ AY MY DIMBIANE X2
4,000, 000& *8CH*50/100 16,000
< 4,800
Al 11,200
NS HATHAIE<E £> 155,400 423,600 A 268,200
< 46,620
Al 108,780
402 RI2HX=01 M 155,400 423,600 A 268,200
< 46,620
Al 108,780
02 QI EASEZ (01X ) 155,400 423,600 A 268,200
OZAR MAFY X8
40,000,000 *4CH *60/100 96,000
= 28,800
Al 67,200
OArZHHE Dl X 30,000,000& *3CH *60/100 54,000
< 16,200
Al 37,800
O2EZ AL XNEED] XA
9,000,000& *1CH =60/ 100 5,400
< 1,620
Al 3,780
S AAF K2 R<E E> 111,720 9,200 102,520
< 6,516
Al 105,204
206 M= Hl 9,720 3,200 6,520
< 2,916
Al 6,804
01 =8l 9,720 3,200 6,520
ORSZ AHMAM KB (HHE)
20,000 »486 1 9,720
< 2,916
Al 6,804
402 RIZ2EX201 ™ 102,000 6,000 96,000
< 3,600
Al 98,400
02 RIZEXt 2 AL EZ (01T ) 102,000 6,000 96,000
Oz &d AFHM2HM X3 (o)
20,000& +8,500% *60/ 100 102,000
< 3,600
Al 98,400
HALUSFSAIZ E MR <E 2> 90,300 58,800 31,500
< 27,090
Al 63,210
402 RIZEX20l A 90,300 58,800 31,500
= 27,090




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 63,210
02 U EALEZ(0IETHR) 90,300 58,800 31,500
OHA2LSAIZEILH XI&
30,000& *4,300% 70/ 100 90,300
< 27,090
Al 63,210
TANSHAE AL HMEX (ZAIZMAD|BHE S 745,200 1,188,000 A 442,800
A )<E x>
J| 248,400
< 149,040
Al 347,760
402 RI2HXt20l ™ 745,200 1,188,000 A 442,800
J| 248,400
= 149,040
Al 347,760
02 22t X2 AL E X (0l X THEA) 745,200 1,188,000 A 442,800
OArZ el XM ZHl XI&
60,000 *13,800= 90/ 100 745,200
J| 248,400
< 149,040
Al 347,760
TASHAZE SUHRUUI XA (ZAZ YLD BHES A 151,200 151,200 0
H)<E x>
J| 64,800
= 25,920
Al 60,480
402 RI2EX=20| A 151,200 151,200 0
J| 64,800
< 25,920
Al 60,480
02 U2 TEALEZ(0IETHR) 151,200 151,200 0
OANZHESXU XA
216,000,000% =141 *70/100 151,200
J| 64,800
< 25,920
Al 60,480
ZANSMAZIHEH PR (ZALZ M AD|BHE S AL 120,000 120,000 0
A )<B x>
J| 30,000
= 27,000
Al 63,000
402 RI2HXt20l ™ 120,000 120,000 0
J| 30,000
= 27,000
Al 63,000
02 It 2 A EZ (01X TH ) 120,000 120,000 0
OZgH JIAHZHIXA
150,000, 000& *2 Al £ %40/100 120,000




2N
X ZH -
L= B

el

- _ _ RE]
CEE B (BH) - HBAY - BAS %Ei HR=2
Pl 30,000
= 27,000
Al 63,000
ANSEH X (XA MAD|BHEFS AFS )<E X> 46,313 30,000 16,313
J| 21,000
= 6,300
Al 19,013
101 Q124 H| 41,813 0 41,813
J| 18,750
o= 5,625
Al 17,438
04 JI2ZtHIZ2 2 ANEE S 41,813 0 41,813
OZAMNSSEZEI HAIEX 41,813
-JlE23 50,000 3% x50 37,500
J| 18,750
= 5,625
Al 13,125
-AEE J|2a82=2 37,500,000 x11.5% 4,313
201 et Y| 4,500 0 4,500
J| 2,250
& 675
Al 1,575
01 AP 2t 2] H| 4,500 0 4,500
O1.B8t==H| 4,500
-AMNESEHI £E4| 4,500,000& 4,500
J| 2,250
= 675
Al 1,575
E2LEMHSIR (=2 Ml KR AY )<E x> 13,200 36,000 N 22,800
J| 6,600
& 1,980
Al 4,620
402 SI2v X0l & 13,200 36,000 A 22,800
J| 6,600
& 1,980
Al 4,620
02 BIZtXIEANYEX(0OIETHH) 13,200 36,000 A 22,800
OJ=2=Xel (g ddlat) X
33,000,000 11 2 %40/100 13,200
J| 6,600
& 1,980
Al 4,620
MY HAEXZXNK (=2l XA )<E x> 11,900 35,700 A 23,800
J| 3,400
= 2,500
Al 6,000
402 SI2F X201 & 11,900 35,700 A 23,800




EXN: Fat
HE: BN WY S (SPHSLN/5Y - 55)
Sl MY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
Pl 3,400
= 2,500
Al 6,000
02 BIZtXIEANYEX(0OIETHH) 11,900 35,700 A 23,800
ONs2a Ml (HEHEX) X
17,000,000 x1Z+70/100 11,900
J| 3,400
& 2,500
Al 6,000
=L MY AZH XN (IS el XA )KEX 100,000 184,970 A 84,970
>
J| 50,000
o= 15,000
Al 35,000
402 SI2FXHE0| ™ 100,000 184,970 N 84,970
J| 50,000
o 15,000
Al 35,000
02 QIZEXIEANISEX (0| XMTHL) 100,000 184,970 N 84,970
OJs2a el (Ml a2 )X
200, 000& *500ha 100,000
Jl 50,000
= 15,000
Al 35,000
A 435,396 1,085,792 A 650,396
= 4,200
J| 48,700
o 66,865
Al 315,631
SN 2H 141,272 174,432 A 33,160
201 et 8,220 8,220 0
01 AR 22l ] 8,220 8,220 0
O1.8t==H| 5,700
—S AR QB4 ZH| 2,700,000& 2,700
“EM2 AX PY YL AALEER
300,000 x5= x23| 3,000
O5. 24| 2,520
SEASIM RN AVATSN U 2HE
M2 SE ZA 7,000 x3Ex10L * 128 2,520
202 o4 | 2,700 3,060 A 360
01 2Ll 2,700 3,060 A 360
OFUSMN 22N U SHENES FEGS
O 1l 60,000& »3H x3L 53| 2,700
207 O 4| 40,000 50,000 A 10,000
01 24| 40,000 50,000 A 10,000
Ot Bdtg stsdpEA 40,000, 000& 40,000

_13_




2N F4t.

HE: BN WY S (SPHSLN/5Y - 55)

Sl BN M CERED
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 40,752 40,752 0
09 HAIAHI EAZ 1,440 1,440 0

OFMAM Jlsusw EA&=sIF o]
60,000& »8H 480
Oste BgiEs AFY #HXIoHY € s &8s
Jb (4t 60,000 *8H x23| 960
11 JIEtE2 A= 39,312 39,312 0
OFNE SR8 80 XN
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= 21,420
< 14,994
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Al 19,348
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OLER424E MEZFH 7,000& »2,5005 17,500
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< 29,814
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206 M= Hl 99,380 108,624 ANQ,244
< 29,814
Al 69,566
01 =8l 99,380 108,624 ANQ,244
OSO0LREAE HEsS 11,500& »2,3605 27,140
< 8,142
Al 18,998
O4 BVWD ¥ S0 olget 5,000& »2,2505 11,250
< 3,375
Al 7,875
OWEIIE ARIIME 2T
4,100&+1,7005% 6,970
< 2,091
Al 4,879
OXRARLY HEAS 6,000& x1,5005 9,000
< 2,700
Al 6,300
OHAl S EJI28 HEA+S  3,0008+2,0005 6,000
< 1,800
Al 4,200
OPRRS 6,500,000& 6,500
< 1,950
Al 4,550
O ZEZYE HLdx3 10& +600,000== 6,000
< 1,800
Al 4,200
OZazgael 10,600& 4505 4,770
= 1,431
Al 3,339
Oxgzgae 6,240,000 6,240
< 1,872
Al 4,368
OBt=IIE 2 AsH 6,600& »2,3505 15,510
< 4,653
Al 10,857
HASL MR JA<E E> 7,850 9,287 N 1,437
< 2,355
Al 5,495
206 M= Hl 7,850 9,287 AN 1,437
< 2,355
Al 5,495
01 = Hl 7,850 9,287 N 1,437
OHAsSZH X& 7,850,000 7,850
< 2,355
Al 5,495
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1MIIEBELSS 500,000 500,000 0
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= 400,000
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>
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< 2,317
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= 7,722
< 2,317
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21>
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< 16,275
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301 L2 A3 108,500 134,100 225,600
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< 16,275
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Al 37,975
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Al 16,800
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= 24,000
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OJtssit2g2el k&
10,000, 0002 *84] *60/ 100 48,000
= 24,000
< 7,200
Al 16,800
IISsIHESLSHAIAER> 11,000 11,000 0
< 3,300
Al 7,700
206 M= Hl 11,000 11,000 0
S 3,300
Al 7,700
01 M= 4l 11,000 11,000 0
OJtesitesasH XN&E 27,500 4004 11,000
< 3,300
Al 7,700
RIsSESHH I E> 191,490 161,880 29,610
< 19,350
Al 172,140
307 21201 A 191,490 161,880 29,610
< 19,350
Al 172,140
05 RIZt2IEt = 191,490 161,880 29,610
O=2E234H I2EZ 191,490, 000& 191,490
< 19,350
Al 172,140
HY2FZHI (F4H)(J1EHIIE 87,516 77,126 10,390
ol 2l 42,736 35,693 7,043
HNFolA2AH| 12,655 12,272 383
101 @124l 12,655 12,272 383
02 JIEt A2+ 12,655 12,272 383
OZEZYS 49N 2U224Y
7,097 3 +1H +57 Al 2t+ 128 4,855
OBZYY 29N AB2Y
50,000 x1H » 128 600
O3SLY =i a3 =<
600,000 x1H =123 7,200
FAHUA2 30,081 23,421 6,660
101 14l 30,081 23,421 6,660
03 RIAHA2 2R E S 30,081 23,421 6,660
OZFMEXNe € HFIISsLY 30,081
-Jlg=s 1,120,600 1P« 12& 13,448
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- UG A 130,000 x1H x12& 1,560
s 40,0003 x 18 +128 480
PN = 59,820 x 1 16 958
224 1,120,600 »1H »25%*23] 561
S P P = 40,0003 x 18 128 480
W S8 AH| 70,000 x1H x12& 840
RS R = 50,0003 x 18 «12& 600
AeEsg 1,120,600 x 1 x10%* 122 1,345
-E+< 40,0003 x 18 «128 480
-HEZRY
7,480 x1H x10Al 2+ x150%* 122 1,347
-2 59,820& x150%+2 x12& 2,154
PIEET 44,780 41,433 3,347
A2 5,180 4,593 587
201 LBt2E | 5,180 4,593 587
01 At 2t 2l 4,180 4,190 A 10
ORN2Y LBt 3,340,000 3,340
ORA2Y =2l 840,000& 840
02 3322l 1,000 403 597
ORAM2Y 8323 1,000,000 1,000
AR FE N 36,300 33,840 2,460
202 oddl 36,300 33,840 2,460
01 = LH o4 1l 36,300 33,840 2,460
OFRASFAAHL 20,000&*11H 13 «12& 34,320
OMEUEZSI Kbl
20,0003 «11H+32«38 1,980
A=Y 3,000 3,000 0
203 YR =] 3,000 3,000 0
04 FN2IELRFAH 3,000 3,000 0
ORMN2ILRFALI(EH:12Y)
250,000 128 3,000
AL ESFHSHI 300 0 300
405 TtobFH S 300 0 300
01 AL EFFHEH 300 0 300
O0lISHEIH 300, 0002 = 1CH 300
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